Errata

Page xii: Unfortunately we omitted to thank Vlastimil Kfivan for his helpful
comments - his name should appear in the list between Michal Johanis and Mike
Mesterton-Gibbons.

Page 149: the payoff matrix in equation (8.24): the Marauder versus Bourgeois
payoff and the Bourgeois versus Marauder payoff should both be (2V — (') /4 not
2V - C)/2.

Page 151: equation (8.30): the last term should be dp and not .

Page 163: second paragraph, line 5: “in a group of n players” should be “in a
group of m players”.

Page 163: equation (9.4): the upper index above the product sign should be m —1
rather than k — 1.

Page 278: Table 14.2 WSLS plays C' if the last payoff from the last round was R
or P,not RorT.



